

Edge of Arlington Saw & Tool, Inc.

124 South Collins
Arlington, TX 76010

Phone: 817-461-7171 • Fax: 817-795-6651
Toll Free: 888-461-7171
Email: info@eoasaw.com
Website: www.eoasaw.com



Diablo Demo Demon Reciprocating Blades

Thank you for shopping with us!

The next generation Diablo Demon carbide-tipped reciprocating blades with new variable tooth design specifically designed for maximum performance.

Item #	Manufacturer	Application	Length	Part Desc	Tooth Design	TPI	Unit Price	Pack Quantity	Price
DS0606CWS	Diablo Tools	Nail-Embedded Wood	6 in	Diablo 6 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (Single)	Carbide Teeth	7-May	\$9.33	Sold in Pack of 5	\$46.65
DS0906CWS	Diablo Tools	Nail-Embedded Wood	9 in	Diablo 9 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (Single)	Carbide Teeth	7-May	\$11.97	Sold in Pack of 5	\$59.84
DS1206CWS	Diablo Tools	Nail-Embedded Wood	12 in	Diablo 12 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (Single)	Carbide Teeth	7-May	\$17.05	Sold in Pack of 5	\$85.25

DS0906CWS3	Diablo Tools	Nail-Embedded Wood	9 in	Diablo 9 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (3 Pack)	Carbide Teeth	7-May	--	Bulk 3-Pack	\$34.15
DS1206CWS3	Diablo Tools	Nail-Embedded Wood	12 in	12 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (3 pack)	Carbide Teeth	7-May	--	Bulk 3-Pack	\$45.02
DS0606CWS3	Diablo Tools	Nail-Embedded Wood	6 in	Diablo 6 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (3 pack)	Carbide Teeth	7-May	--	Bulk 3-Pack	\$24.51
DS0903CP	Diablo Tools	Pruning and clean wood cutting	9 in	Diablo 9 in Demo Demon Carbide-Tipped Pruning and Clean Wood Blade (Single)	Carbide Teeth	3	\$9.53	Sold in Pack of 5	\$47.65
DS0903CP3	Diablo Tools	Pruning and clean wood cutting	9 in	Diablo 9 in Demo Demon Carbide-Tipped Pruning and Clean Wood Blade (3 pack)	Carbide Teeth	3	--	Bulk 3-Pack	\$27.12
DS1203CP	Diablo Tools	Pruning and clean wood cutting	12 in	Diablo 12 in Demo Demon Carbide-Tipped Pruning and Clean Wood Blade (Single)	Carbide Teeth	3	\$13.96	Sold in Pack of 5	\$69.80
DS1203CP3	Diablo Tools	Pruning and clean wood cutting	12 in	Diablo 12 in Demo Demon Carbide Tipped Pruning and Clean Wood Blade (3 pack)	Carbide Teeth	3	--	Bulk 3-Pack	\$36.08
DS0609CGP	Diablo Tools	General purpose nail-embedded wood & metal	12 in	Diablo 12 in Carbide Tipped Pruning and Clean Wood Blade (3 pack)	Carbide Teeth	9-Jun	\$10.03	Sold in Pack of 5	\$50.15
DS0609CGP3	Diablo Tools	General purpose nail-embedded wood & metal	6 in	Diablo 6 in Demo Demon Carbide General Purpose Recip (3 pack)	Carbide Teeth	9-Jun	--	Bulk 3-Pack	\$27.12
DS0909CGP	Diablo Tools	General purpose nail-embedded wood & metal	9 in	9 in Demo Demon Carbide General Purpose Recip (Single)	Carbide Teeth	9-Jun	\$14.04	Sold in Pack of 5	\$70.20

DS0909CGP3	Diablo Tools	General purpose nail-embedded wood & metal	9 in	Diablo 9 in Demo Demon Carbide General Purpose Recip (3 pack)	Carbide Teeth	9-Jun	--	Bulk 3-Pack	\$36.17
DS1209CGP	Diablo Tools	General purpose nail-embedded wood & metal	12 in	Diablo 12 in Demo Demon Carbide General Purpose Recip (Single)	Carbide Teeth	9-Jun	\$18.05	Sold in Pack of 5	\$90.25
DS1209CGP3	Diablo Tools	General purpose nail-embedded wood & metal	12 in	Diablo 12 in Demo Demon Carbide General Purpose Recip (3 pack)	Carbide Teeth	9-Jun	--	Bulk 3-Pack	\$49.24
DS0603CP	Diablo Tools	Pruning and clean wood cutting	6 in	Diablo 6\ Demon Carbide-Tipped Pruning and Clean Wood Blade (Single) in	Carbide Teeth	3	\$7.01	Sold in Pack of 5	\$35.05
DS0603CP3	Diablo Tools	Pruning and clean wood cutting	6 in	Diablo 6 in Demon Carbide-Tipped Pruning and Clean Wood Blade (3 pack)	Carbide Teeth	3	--	Bulk 3-Pack	\$18.07
DS0606CWS10	Diablo Tools	Nail-Embedded Wood	6 in	Diablo 6 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (10 pack)	Carbide Teeth	7-May	--	Bulk 10-Pack	\$110.15
DS0906CWS10	Diablo Tools	Nail-Embedded Wood	9 in	Diablo 9 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (10 pack)	Carbide Teeth	7-May	--	Bulk 10-Pack	\$99.75
DS1206CWS10	Diablo Tools	Nail-Embedded Wood	12 in	12 in Demo Demon Carbide Recip Blade for Nail-Embedded Wood (10 pack)	Carbide Teeth	7-May	--	Bulk 10-Pack	\$127.81
DS0603CP10	Diablo Tools	Pruning and clean wood cutting	6 in	Diablo 6 in Demon Carbide-Tipped Pruning and Clean Wood Blade (10 pack)	Carbide Teeth	3	--	Bulk 10-Pack	\$53.89
DS0903CP10	Diablo Tools	Pruning and clean wood cutting	9 in	Diablo 9 in Demo Demon Carbide-Tipped Pruning and Clean Wood Blade (3 pack)	Carbide Teeth	3	--	Bulk 10-Pack	\$81.59

DS1203CP10	Diablo Tools	Pruning and clean wood cutting	12 in	Diablo 12 in Demo Demon Carbide Tipped Pruning and Clean Wood Blade (10 pack)	Carbide Teeth	3	--	Bulk 10-Pack	\$110.15
DS0609CGP10	Diablo Tools	General purpose nail-embedded wood & metal	6 in	Diablo 6 in Demo Demon Carbide General Purpose Recip (10 pack)	Carbide Teeth	9-Jun	--	Bulk 10-Pack	\$81.59
DS0909CGP10	Diablo Tools	General purpose nail-embedded wood & metal	9 in	Diablo 9 in Demo Demon Carbide General Purpose Recip (10 pack)	Carbide Teeth	9-Jun	--	Bulk 10-Pack	\$110.01
DS1209CGP10	Diablo Tools	General purpose nail-embedded wood & metal	12 in	Diablo 12 in Demo Demon Carbide General Purpose Recip (10 pack)	Carbide Teeth	9-Jun	--	Bulk 10-Pack	\$148.85
DS0705CWR3	Diablo Tools	Clean & Nail-Embedded Wood	7-3/8 in	Diablo 7-3/8 in. Demo-Demon Rough-In / Scrolling Carbide Reciprocating Blade	Carbide Teeth	5	--	Bulk 3-Pack	\$27.97